M7 FERYEREERAB Ny / RRERME—&

) E=:=h=F|
2 2 Yy dE T 5 Z —
RERM NRE
L B 22000/ 28 000/
3] AN\ =l ,
=R A g TS0 16, 000 — 2o
) 39 600/ 23 600/
B BEHAT (RE) 42 900M 26, 900/
N p—— 4808 1p 000 25 800
AR BEX B 42, 900M 000 5 ~500m
ged o BEhAS (B8) 46, 200M 30, 200
BhAS (&O) 45,100 29, 100
BELRARE Bt 49, 5009 16,000/3| 33,500/
Ak B Bt 38, 5009 16,000/| 22, 500/
- - SHhAS (B2) 43, 450H 16, 000F3 27, 450H
=ZEREBHRT Eas = X 48 ,
JEHXR 42, 3509 26, 350/
FHELRE Bt 39, 6009 16,000/ 23, 600F
DD g [T @RER] SV TORL g goom| % 700H
. ) 16, 200 30, 200/
%)\FEﬁ = S5 (RE - &
Fu 7 |mtsu=vsLre—zTsy| g 777 EEDL O 000B e g0 40,5408
(18) BHX 51, 040M 35 040/
P BhAT (B8 -#0) 51, 700H 3b, 700H
AR ILS =y b ) 46,2008 1o 000|230 200F
ot gh235 ®&&-go | b6, 540 40, b40H
BHX 51, 040M 35 040/
. E—— 48 400/ 32, 400/
N BEX 41.800M 25 800M
= SR fEL = ' 16, 000 '
RALBRES T 54, 45073 M35 450m
BHXE 47.850M 31, 850/
BERXER -
s (RES-) | Bga| #ro am | A3 80F) 0 27 850H
R p——— 46, 050M 30, 050/
i BhAS 39, 600M 23, 600
CIRWMERES Y = it = ' 16, 000 :
VERAERREIU=vY | BX ) 36, 300/ M0 300m
2 E—— 46, 200M 30, 200/
N BEX 42, 900M 26, 900
RS — : 16, 000 :
LR i E—— 29, 500M 33 500
BEX 46, 200M 30, 200/
— BEX & 67. 100M 51. 1008
ff%;ﬁi%@% TR R B4t TR0 69, 300M™| 16, 000M| 53, 300/
g T 70, 40079 54, 400/
R N Bt 71, 500/ 16,0003 55, 500F3

SR, TERBHUBENZNT IHEOIANTEZD
RELRDIHENHY FT,

LESRERELTVEYT., —HREZER SN LS,




